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Utility Maximization with the Introduction of a New Product (Income = $10)*

12) {3) {4
Product A: Price = $1 Product B: Price = $2 New Product C: Price = $4
b) 1) k)
) la) Margina! Urility la) Marginal Utility lo} Maiginal Usility
Unit of Marginal per Dollar Marginal per Dollar Marginal per Dollar
Product  Utility, Utils MU/ Price) Utility, Utils MU/ Price) Utility, Utils MU/ Price)
First 10 10 24 12 52 13
Second 8 8 20 10 48 12
Third 7 7 18 Q 44 1
Fourth o) 6 16 8 36 Q
Fitth 5 5 12 6 32 8

“It is assumed in this table that the amount of marginal utility received from additional units of each of the three products is
independent of the quantity purchased of the other products. For example, the marginatutility schedute for product C s
independent of the amount of A and B purchased by the consumer.




